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luslon. All differentiation in the phenomenal uni-
verse is due to belief that mind does not cognize
ideas regarding problems. If mind realized the
whole truth about each problem, realized that each
symbol indicates all, there would be only one sym-
bol and the evolution in mind would be complete
The ete.nal uplift of mind is to see each one as all

SOLUTION OF THE PHENOMENAL UNIVERSE

The above ej^lanation will help elucidate the
writer's solution of "the 14 points in the 'Dream Prob-
lem.' "

1. Who is it that sleeps, who is is that dreams,
and who is it that wakes up?

Nothing sleeps, nothing dreams, nothing awakes
Sleeping, dreaming and awakening are nouns
names, indicating ideas in mind. To ask who is it
that sleeps is equivalent to asking a mathematician,
when one sees the figure "2" who is it that "twos "

Mind creates the figure "2" to indicate the idea
two

;
and mind creates the symbol "sleep" to indi-

cate the idea "rest." The • lusion that a "man is
sleeping" is a "snake in t- rope." The "sleeping


